Algebra 1 (cp) Midterm Review

Name: Date: Period:

Chapter 1

1. Evaluate the variable expression when j = 4.
J oo 4+

44 ~ B9 M —-—\
?

N @)

2. Evaluate the variable expression when j=4.

4 _ 2t

i T Y

2] @

3. Find the perimeter of the rectangle. Then Sind arec. .

12 in.
in 'Pq.“.,\c\cr- - Ad2 Yhe s(.\cs ,
10 in. Hoars &or%c'\ uns

P: I2+124)0+)0 = 44
o

\r
Vo~
G m

RAcea. 0% o SQUALE oq RecTANGLEL 1S LEnem™ Times Lo, &
URITS ARE SQuaeto.

A=ﬁ_'w- lZ(lo) =120
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= - _\
' ' _‘___'____F_._—f"_ k&&’ _i b . H
4. Find the area of the triangle. = o2
remem e~ UN T ¥s

B=361t -
Arear ¥ (36) (1)

= 1%0) @ (1ag $42) o (13 sarr)

= 1a¢

) i R . f""_"\') Y
5. Write the expression in exponential form.
) X X=BASE
Y= ExPoNENT

[5] @

—

EVALUATE Pow £/

6. Complete the table. e
¢ Power | Base €Exponent Standard Form lf_h:.\’_‘ Powerin expPended ~(-‘°,-M
b—— |(5E > =2:2-2:2-2

L s DA
3 4
1")5 —ﬁ-
rt -
Power | Base | Exponent | Standard Form
2 a 5 32
24 | 3 4 21 3-3.3.%
5*|5 | 3 125 s.ss
o " [R | % ¥
i )
c\rcul1
%'w\‘o\T-Hec\
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7. Evaluate the expression for the given value of the variable.
x* when x=3

3 = 3.1:29-3:@

m A1

8. Evaluate the expression for the given value of the variable.
16 + 12x— x> whenx =3

lo+12(3) - (3)
lo ¥ 3¢ ~271 =

sa-a% =@5) B 25

9. Evaluate the expression for the given values of the variables.
(c)' +(2g)" when ¢=2 and g =3

(> + (.5 =
® 4+ (Q,)z' =

% +30 = @) o 11

10. Evaluate the expression.
6:6-3

50-3-@

[10] 3%
11. Evaluate the expression.
4.3°-5 =
A
4.9 -5 =
\%
36 -S = [ 3\

€D
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12, Evaluate the expression.
8+8:2-10+2 =
v v

S+l =5 <
V -
a4 -5 = 19

@ [12]

13. Evaluate the expression for the given value of the variable.
3y* +3+7 wheny=2

323 +7=

12>3+7°7 3]\

4+1= @
14. Evaluate the expression for the given value of the variable.
(y+3)° -40 + 8 wheny=4

(44T -40=% =

(A= -5 =
4yq -5 = 4 44

@D
15. Evaluate the expression for the given value of the variable.
[(y—2)> +5] + 3 wheny=4

{_('-l —Jy'-tgxf‘- o=

s 2

16. Evaluate the expression for the given value of the variable.
[(y+3)*-9] + 8 wheny =4

[ (4+)*- 9] =% =

{71*({1 -8 = [16] S
[4q -0 =8
Yo =~ 8>

®
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17. Evaluate the expression for the given values of the variables.
g whenx=6andy =2

x+2y° 2
4e -\ _ 4y _ A _ 4 _ 44 -@
C+2(N%2 ~ (+2.42 bt+Ba brle = T2z

n7 - a

18. Determine whether the following is an expression, an equation, or an inequality.
2x* —6x—1=3

ExPREssioN 15 A ColLgcToNS OF MUmbEes uariaBLes,
OPER BTior + SYMBgaLs OF IN CLUSIION .

EGQuatioa ~ 2 £xPeesSioNS ConnNECTED (ITH

= Sien
18] \E@uam ‘
INEQUALITY - Z €XPegssions Conw EcTED WITH
19. Check to see if x =4 is or is not a solution for the equation. <, <&

/ —/7/ >/I :}=
2x+1=8+x+4 /~TT's A SowLoToN IF

2(0) 41 gty e NOMBERL CHECKS,
¥l =g+
9 =9

[19] X=4 is a Seluobon

20. Check to see if x =7 is or is not a solution of the inequality.
5+42x<15

- Is A seTun IF THE
5+2(3)4is T NEQuadiTy IS Teve.
5+14 £1S

1q & lS@ [20]

21. Check to see if x =2 is or is not a solution of the inequality.
7+3x<Tx-2

X=3F is NoT a Soluhow

7¢3(2) £ 7()-*
7+ b -2

L
2 212 () 21 X=2 ts NoT e Soluhon

Page 5



22. Check to see if x =2 is or is not a solution of the inequality.
5x-227
s(a)-23 F
£ 1) [22] X=2 1S a salohaal

23. Does the input-output table represent a function? If it does represent a function, list the

domain and range. o ‘
X —b mput] 2] 3] 4] 5]¢= TWS 1S A funeTion BECAUSE
Y —$Output [ 12 [15]18]21 THere A e NO RePeATING X-VAWES

Domamy: X=2,3 s Domata ig a list ot x-velues
i = Is 13,21 . N
Rance : Y=12,15,18, 8 *_Ranag_ is a list ot 'Li( Y-velues

24. Does the input-output table represent a function? If it does represent a function, list the
domain and range. If it does not represent a function, explain why.

X=|Input |0 ( 4 43‘3—\@1_ A FUNCTI‘@

—

Output | 1|47 |10[13
Becavse THsrs ARE
REPEATING X-VALUES

[24]
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25. Make a table of values for the line ly =2x+1 ,using x-values of 1, 2, 3, 4, and 5. Graph the
line.

@(x) 1S ‘Phe Sameas “8 “
\t: 2X+ \

8

§(X) = 2%+

[23]
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Chapter 2

26. Graph -2, 4, -6, and 1 on a number line and determine the order of the numbers.

-10 -5 0 5 10
[26] ( - )
-(91 d :qu

27. Write the numbers in increasing order.

v 7 5"" v’ - .
%,—10, 0, % -5 1 RET CMAMLE FRAETions To BEcimaLs
g/ /\‘0 \X
I AV < \_';'5 -
e

- 3

1 -lo,-g,0 | +

7 = 7 4 =

28. What is the opposite of 157
OPPOSITE - MEANS TO SwiTch THe SicN

ReciProcaL : FLip Faacnod _
Reep SienN 28] —IS
ExameLe : —3/'-f —_ f'ec_-"oroc..l is —'7’/3
29. Solve the equation.

=8 A’GSOLUTE_\/ALUC |S THs DisTmANce Feom O,
(*=3%,~3) EX\ |-gl=s Ex11sl=s £x] lol=0

C. X=§ \%\=§/
T = e -+
29 = - X ="t
oo X=-% gl =€ [29] X & B Y oa 5

¥=5v
30. Use the properties of addition to find the sum.

N +6+[-253)] {Th“ mears teke
NY) . “Hee opposih ot
— /_\/ |-
=346 |=(-DN 1= +ake b opposive|— ( ) Qeyui g i dhe ()=

-F+e[1] = po; )

—3 ¢ :@
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31. Find the difference.

(-8)=t*2)

—8+2=@

[31] -6

32, Fiﬁf the terms of the expression.
4  TEams Aec SEPfaaTsd BY ADDI N ANO

SURTRA cTion SI6GNS.

[32] —ﬁx;—s
33. Find the product.
~3(-2) Factons Aes SEPeenTed BY MMULT. SiceNs
K . Tois ExameLe Mas 2 Faces:, =23} =2
B33 &

34, Find the product. - 2
(- 2)° (—-Z)Li= +|L Evew NvmBsn °F
Necanve FACTORS 1S Pds,T.‘vg.

-2 +-2.-2.-2 = ("2)3:‘3’ “obpp" AMNUImBsrz OF

N EcaTUs FACAS IS NEGANUS
o

341 /¢

35. Simplify the expression.
~2(=5)() e T X Facmes s -2, =S, K

=10
2.-5°"

-

Bs1  loK
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36. Determine whether the statement is true or false. If it is false, give a counterexample. The
producf 0:(n) is always‘().\

TRUE -~ Any NUMBEe —Tmes Zgeo 1S ZEROD,
[36]

i he gi lue of the variable.
37. Ev:l;l(zfg_ the T)(;pite)s(s/l%n+f;)(r) t \i hg(;ven value o Cemembe~ U3e C )| s
- 4[X+5] - .@ < Wwhen 3u\os+;+o+va’ M%c.-ﬁve_

~4(-s)+s| - 10(-s)/a + 20 - humbers.
[e44] - 1963)
~4(0) + s0/a +30 =
O+ 25430 =
@ 371 &5
38. Use the Distributive Property to rewrite the expression without parentheses.
75 = Remem ber XX =2
(170 (3x) +01)-8) =
A Téams .
Eix*+ —§sx &
____,___E- [38] SIx*=RSxX S‘Ix’-l -&5x

39. List the like terms in the expression.
L”<€+ef‘ms hqve %e Saeme Ucr(cblcs f\al.Sfel ‘o M\C.

Same €xpanents. .
B9 ~F\Fand R1%5  H) andbl | Ik and Pk

40. Simplify the expression.
8qx+6+4x—4

—

aOMb.\-\e g x+ ¥X
Comlopne numboers [40] __

e -4
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41. Simplify the expression.
Hr71-Y+a = Teu =@

%
3x+"3x =0
1\
42. Simplify the expression.
Tx + 40 T 3)
o - @De
: [42]
&0 R
oI TG o0
‘..u..e"v 43. _Simplify the expression. N
o ST 1)+ 5B P @ Combire Voricble Rems =I5 % +5X
@ Clombie NUmbers Go+iS
o-15x-1s +Sx+S @ order Correct)
Y—’——‘ o Varichle Jerms €ither
bl 143] HAL exponcats o
S ABC order
44. Find the quotient. * Nomoer last
40 + (=5)
44 —&

45. Evaluate the expression for the given value(s) of the variable(s).

=2, when v =20
20 =12 §
9 g =@

[45] )
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46. Evaluate the expression for the given value(s) of the variable(s).

% when x =20 and y = -5
y

A0
D

[46]

47. Simplify the expression.
42 f —24 F
6 G

-
=

-4

un FF-4

48. Simplify the expression.
28x-14
B - A8X 14

[48]

Yx-2
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ALways Cwéer ) ‘

————
Chapter 3
49. Solve the equation.
%1*40 e a0 5-2é8= 40
7| \ s 'a/ ! Yo "fO/
%
oy, K= 46"y
eqpﬁé o [49] X=317

Yy
e 1€

50. Solve the equation.

\
\5\%=3 ‘S c: ._'_S:,_ 3
“a= 3
> b=
[50] X=IS
51. Solve the equation. (
4x+g=21 e W(I3)+g =2
I3+% =2\

%X: \3 al =21+~
13

q
@ [51] X= T oo X= 3}y
']

52. Solve the equation. o/, yave \-sl=€
2x— | =23

AR~
e Qg

e

,___;1:2& [52] X =14
=
C: &(HB - |-sl| =
A8 -5 723

9350’?5/ Page 13



53. Solve the equation. , —
2n+18—-4n =34
—AN+\F > 3%

-\ ¥

s — —_—

SUMT

54, Solve the equation.

ALwWANs SimPL FY Boty SIdgs Fie ST ”

¢ -

a: 2(—g\+l8 -y (—-%\23‘7‘
—16 +1§ + 32= 3¢
34 = 34«

ey 5Cs)-2(-s 2 =—u

Sn-2(n>2)=-11 -5 =2 (=3 =1
SN -2804+Y4 = -V —as 'f'_l‘""‘::":/
AN +YE =N
- -y
=
>
AN =-§ <
55. Solve the equation. £: % /g I
£_4=0 —ﬁ(l —~Yo =0
18”7 ;2
1y S /) O0=0
( Te Y=**°<—§D
56. Solve the equation.
21x =21 (-3) S(-3) =
_EX 5k =24 - 5(-3)=24
! T e fis. 24
_ 5 =
= Bix - S =l g+15=24
&= g)‘:;"‘f 24=24
- )
56 X=-3
X=-3 &

e L()+3= $(4)-5

57. Solye the equation.
zH+3=8z-5 A4+ = 32-S
— -tz 27 = a7,

3=2%-
+s +5 sn 2=
B
7

—
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58. Solve the equation, -
Sx+14-2x=9"(4x+2)

Ax a1y .-:q:'""\(_"z.
= - g
+?+):+H "‘J“
_‘7)‘:% ='-T|*

o e s
Ix = =1
7

(58]

X=-1
59. Solve the equation.

Tz+5=9z-3
—fz2 -2
5=.?%-¥
3 -+

5-x% [59]

A
Z2=M
60. Solve the equation.
4+3x-1)=2(x—2)
Y+ 3x -3 = 2x -4
3x+| = 3?/ -4
— AX - o X
X+ :_::f [60]

(X=-55
61. Solve the equation.

{(2116):%2’(3“\%)

A+Y = 3+4 -2

[61]

425D 41t -2 (-1)= ?—Ei(—:)ﬂj

S H4+2 = 9= [-443]
~Stle =9-[2]
I = 9+2
=i
X=-l
c: 3#(4)+5 =9 (4) -3
Af+s = 36 -3
3% = 337
=Y
e d+3(-5+-r) =z(-S‘+-z)
qf%(—e}: Z(-7)
H+ 1§ = 1
_14:—04‘/
X=-S

L %[‘*(‘l‘:)ﬂ\c,]:‘sofa(a-‘/ )
L[ ang =3 +20)
‘:“"[ao—k = 3+

5 =5,7

Specie\ Cases

N£ Sm.u‘n‘in_d_ is uilhen Hag Voridaly Amps
Fhe numboers

ALL REAL RNUMBERS "5 when the 0 erichles

vt en d
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-~ D

64. Rewrite the equation in function form. \/ =mx+bo
—4x+y =16
+ My

s Y= Hyeil

65. Find four solutions of 24+ y =17.
== - 2x = =1

\
\é:-lx-\--, "’

[65] 2

66. Complete the table. Then graph the equation.
x A -2j0]2]4

[66]
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Chapter 4

62. Write the ordered pairs that correspond to the given points.

[62]

63. Plot the given points in a coordinate plane.
(49 0)5 (_29 _3)3 (35 l), and (_2a 2)

) NN
6y & &2

X=-ax+S Ql G )’5 ..... Q\
RENEDA. ) 1
e Y
.?.(!!‘@
5. .. 5X
”:;:‘ L
Q’)k’l—\S ..... Q\-\
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67. Graph the equation.

68. Write the equation for this graph.

......
------
......

L

YA
......... 1 e a vl e MR BT #
= AT oS e were e
T ERRaEet SRS R R REI "
! Pl
= I) T O IR

8] X=F

69. Write the equation of the horizontal line passing through the i)oint 4, 7).

N b (4 ;\\___.)

ya .
A

\

oo Y=F
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70. Write the equation for the vertical line passing through the point (-5, 2).
sy T
2

o X
\ [70] X=- o

71. Sketch the graphs of x =42 and y =—4. Find the point at which the two graphs intersect.
=4L
/P I K=+

........
........

........

[71] Poinst 0f X NTSE SECTIoN (Q.-q)

72. Find the x -intercept of the line 3x—y =-3.
A ANTERLCEPT , SET V=

3)‘ o=-3 Oordered P.,.‘,- ("l")
X =-3
33' Y [72] rxm or | (-1,0) )

(X=-1)
73. Find the x- and y-intercepts of the line 3x +4y =-12.

Yindercest, SET X=O
ordered ?&\l‘ (O,

[73] XiwT ("L[.u)_ Yirsr (a,.-3)

33X+ L\\é' -1z

X\UT INT

3x -H/S““L }{/yo"'f‘%"'?’
%:*IZ -12
3 Cl

@ Page 19




74. Graph the linear equation by finding the x- and y-intercepts.

2x—y=-2
x‘"r. Yiut
©
2x-0=-2 2£)-Y = -2

wr ae
2 \ =1
g
(“""’) (042> [74]

m:- P\ISE }/5
RuN L
%iﬁi

L

76. Find the slope of the line passing through the points 4(-2, 9) and B(1, -3).

M:= \I‘L =Y, ) b‘l
XXy | AX [76] m=-Y

W

m:q\)"l-l-

13 _ 12

—¢=~l -3 =3

Page 20



M= AN

Bx

77. Find the slope of the line that contains (—4, -3) and (-3, -3).

M= —’:—(*3) = 343 o
-3 HWwm T )

n M=o

78. Find the slope of the line through the points ( -1, -3) and (-1, 7).

- ~3-F <19 o
™ A=) T Tas A r_\

78] _ _m =<5

79. Find the slope of the line through the points (4, 7) and (-6, 2).

M: q'a - 'S‘k ch‘c—
Y-Ge) 70

[79] M-‘"i

80. Give the slope of the line that contains (6, 4) and (6, 6).

_ Y=L g
M T3 s

80] Mz=unde £ ied

Page 21



Y=mx+b
maRue 7 N— Yinlercept

81. Graph the equation y = —%x. +06

Vs ~ %Mau.d=b

h%
M==3 _ Rise  nicocderiichiinn
2 RN S N g e s

..................

....................

........

..........

.........

...................

..............

-------------------

||||||||||

84—3y—54=0
- &% 3

T =3y = —SX4S
f%* ERNR e

82. Re?wite the equation in slope-intercept form.

6x/~3y =54
= -

%% = -Lx+SY
= =3 -3

83. Fythe slope and y-intercept of the line. — PoT ;ay Y=my4b
X

2  b=-1§

=
| 11

Y=ax-\& 53]

Pom———

84. Solve for y.
454-5y=0
.. e .

F—\\)
i < -4
! s V7 X )
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85. Wrijte in slope-intercept form and sketch the line.

Page 23



/7 lines Wave the j
Chapter 5 \ . Same. 3lope. |

86. Solve foryin 6{ +2y = 3. Determine if the line is parallel to y =

s ~bA
%1 = —bx+3
Zz =z
g.—: -3x+3/, [86] The \;qc,b are no+ /7  because.
(M='33 He lines heve Adi Herent 'SIOPCS.
87. Find the slope and y-intercept of the line y = 5x +4. Is the line parallel to y=éx+4?
: ="
Y_:: ]‘f?}( m 3 \'.'J 5
M= Slepe
b = \6§A\crcep-\—

871 m=5 b=Y4 NoT// — diWerest slapes

88. Find the slope and y-intercept of the line y =@x@ . Is the line parallel to

y= 18x-107
w\;\g
38 m=13 b=-] [ines ace//
be.cecuse. Hea Slopesare
89. Is the relation {(~1,-3), (=1, 2), (2, —4)} a function? S, Baind
X X TR

891 MoT A Ponchon l)e.ccug_m
Fhere. are (‘&()e.c-\—ira X—VC‘VQ(“D

Eﬂi‘l‘ﬁ?? Do MoT Have BePeatine X-Velves
The velves of Y do not meller

Page 24



90. Decide whether the information defines a function. If it does, state the domain of the

function
X —%| input |0 2034
output 213 1

[90] Fneron — MO R?PE“(T)FNG X~ VALWE S

91. Find f(-2) given f(x) =3x>+2x+10. &~ Sobshive. X vuth -3
L£CD) =30 2() +10

$(e) = 3(D*4 2(0) +10

'?(“2\ =3C-D%2(-2) +10
3(4)+-4 +10 - -
S A re s |$ED)=ig| S0 =18] FQ e
s ~Y4Y+22 q
92. Determine which of the following graphs does not represent a function.
[B]

...... B

\/er-\-"\c;\ Line —es+ — Drawa Vertica\ Liae(s)
[92] (C‘,

IF You cen deaund o V-Line Hae b
h Mdre +hen

douches Hha ar‘ee
Ofdce ‘-“L\Cr\ ‘l-\- ;$ Uora -Puncﬁdb\ Page 25
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93, Determine whether the following graph represents a function.

931 NOT A PunNcTioa]

Becaose THE VeaTicac
LiNE  ToucHES Twe GARPH
Moee T™HAN ONCE
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94, Complete the function table. Then graph the function.
X | Y= #6d=5 x4

| \ Ua
<=l | ) el

’ Domain arethe
12 [ £@4- v T xvawes.
’\“ Range are 4ive
3 Velues
Dotrere 1"”6"

[94] Bcnag [ ~ =4, ~2Z

95. Write in slope-intercept form the equation of a line having slope —7 and y-intercept 7.
Al Xy v
Y=mx+b £ B

51  Y=-Ix+F

96. Write an equation of the line with slope e and y-intercept 5.

m._.-al,z hW=-S

[96] \/ = zX-5

Page 27



Y=Mx+b

97. Write in slope-intercept form the equation of the line.

[97] \/= %_X +L,

98. Write an equation of the line shown in slope-intercept form.

MO Fus Yindercept (b)

(@ Fivo Twe Slope
M= Risa
fund

98] Y==X-3 o2

Page 28



99. Write an equation of the line shown in slope-intercept form.

[99] = éx“f

100. Write an equation 1n\|10mt slope form}of the line. Then rewrite the equation in sl opc-

intercept form. Ly )‘- =m CX—XD wWhere ()(i V) 'S a Po\'f\'
The line that passes through the pomt (= 2 ,3) and has the slope g remembses fonke
Ny, 3 0 pponite oF X Y,
’P/S\I%\*M(XX\) S’I\l '-t-\)(-r ;—
Y‘("I)'”(X -’f—- )‘/ -3x~3|-2 5
Y-y = -’CM;) ,-——-—f-[100] Pls 2 Y-4-3 (x+g\

N = &
P SIT 2 Y =YX+
101. Use the|point-slope fo%lto write an equation of the line that passes through the given
point and has the given slope.

] T-4\ = =m (x- X)
x;;? 2 Vet =% (%= (7\3

moy_ y-1 = % (xxH

Page 29



102. Use thé‘point-sl'ope orm to write an equation of the line that passes through the given

point and has the given slope. +

(5,-7), m=2 Y '("7\ 2( <)
x 4. = =LA

)0

non Bls  ygr= % (x-5)

103. Write in slope-intercept form the equation of the line that is parallel to the line in the graph
and passes through the given point.
STEP A FiuD Slupe o Given line

———

_K\SA.._ 3
= =220 = = ':J-
rod 9 M=

STEPL Use the. //m (same slope) an d st

Vo yE2) s 4(x-3)
V+3=*§B¢.-—3)
STEPS WT N 3/ Y=mx+b

Wmes pt(33) T AAF A

y=%x -4
Q)

[103] s/t

by
6"“9"‘“ / 0
104. Write an equation for the line containing (-5, —18) and (-6, —23).

STeP 4 Finn Slepe, (-5"|g> y+-\@=g(X+g3 g
_ At _=18v23 5 i . _
== [104] (-(,,-23)  Y+23 =5 (%+0)

&,

STEP2  Pick either Pt- There are 2 amswers
\/"Y. =m (X "xc\

Note: \F Yoo PoT EiTHse P/s EQuaTion jnm s[‘}‘jﬁ'e”
The S|T will Ye Fhe Same



105. Write in point-slope form the equation of the line that passes through the points (4, —4) and
(3, 1). Use (4, —4) as the point (x,, »,).

STEC X m= 01 _ -y4-I =S — =
. . = oy =-S
Oy "f"3 = 9 @

- al
STEP pls \I:\_Ll.._,_s.(x_‘_\) [105] P)_s Y+'4 =—‘§<X ""‘)

106. Write an equation of the line shown on the graph.

SEPT : Fup Y -intee coet (b)

STee XX Funo  Slop

M= RS 4
e 73

Remember /\/23#502 -g-re.cHw\s Cen be |
Lo een ot 4 =% _ v
|\ ekher~ s SRR

[106] N = '%X""j

107. Write the equation of the line in slope-intercept form that passes through the given points.
(-3, 5)and (2,-5)

STeexr Fuvo Slope

Ve —2y-\
N i [107] / X
M 3-2 ¢ @ '

STECN Pick either Donk cnd find he Pls Bquariom, T aid buth

x (-3,5) =~ ox (z,-g A
L l D B 2 (x+3) Pls y+s=-2(x-2)

STECT Porim Sldpe INTEC CEPT

\‘/ Y’i=~z.)k—(a / 3_\_3' "?_)Ld"‘f Page 31
e &7

e =2 NoTice Tusy S @

ke 54T same

<



STRNOAZD Foem: Ax+ By=C Where. 4, 3, C are fﬂ‘ﬁgcrs
‘L.nkacrs d.ogr haw c{e.ca'ncls ar ‘crcc-";aNS

108. Write the equation of the line in standard form. Use integer coefficients,

4/ 2
y=-== -5 —STEPAL Gexr Xan Y +erms o~ Hee lett
Gnd consteat 0~ YR nght
+%Lx +7K ¥
.- 2 STEe Z: MULT ALY THE ENTIRE QAo TO
+F [-;'-H—*l s %-_\ je—" E LW HaTE Fancrions
[108]

=" 2 possble ansulers s i{x+‘71 ==2Z on
Hx+1y =27 5 TS

109. Write the equation of the line in standard form. Use integer coefficients.

=2 B
3/—(‘ SX“’Y'—#\ o9 —2AX+3y=-lv

(L) Perpendiculcr s/opes are I\)cad{uc Reciprads

@ They hwe opposite siGnS
m=4 M= @) The frechions are peciprocel s

U [(110] NotT Ly Yhe s/o_peb Gre MNoT

neaoﬁue re cipro celS

y=4x+3, y=—4x——;~

111. Determine whether the lines are perpendicular.
Y=3x -+, y=-2x+10

'
M:Z M:"Z/'
111 [jnes are L., +he slupes are
nec&c.h'ue \(‘ctjl{)rec.g\g

s Slepes are oppisie SIGNS
o Heeehions arereciproceds

112. Find the slope of a line perpendicular to the line y = —4x + 3.

m=-4 [112]

-+l é———/
M = —
@ Bxociics of fecsiprocels
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